3y(-2x + 5y) & 7+5] 5FH?

@ —2xy - 152 @ —2xy - Ty’ ® 6xy - 15y

@—6xy + 152 ® 6xy + 5y*

(—2x) x 3y + 5y x 3y = —6xy + 15y?




2.

ohg DA A 2R Hol g x, y o]
et Ao 2 vp2 A el 2129

@ (2x+2y)(3x +y) = 6x2 + 8xy + 2y2

@ (2x-2y)(3x +y) = 6x% — 4xy - 2y
@(2x +2y)(3x —y) = 6x° + dxy - 2y°
@ (3x+2y)(2x-y) = 622 + xy = 2

® (3x—2y)(2x +y) = 6x2 — xy — 2y?

_--2X--__ 2y

~&B

At B10] 7129 dol= (2x + 2y),
A=) dol= (3x—y) °Ith

weba] AR BE O] Wol=

(2x + 2y)(3x —y) = 61 + 4xy —




3.

(x=y+2)(x+y+2z)5 AMH7] Asl 7HE

O {(x+y) -2} {(x+y) +2}
@ {(x-y) -z} {(x+y) -2}
@ {x-0+}{x+0-2}
@{(x+2-y}H{x+9+}
® {(x-2) -y} {(x-2) +y}

1g=1g
=

(FAR A= {(x+2) -y} {(x+2) +»}




(3x + a)(4x = 5) = 12x> + bx — 10 A a, b7} 454 W, a + b 2]

e Foha?

@5 o4+ 063 @2 O-1

B !
(3x + a)(4x — 5) = 12x* — 15x + 4ax — 5a = 12x* + bx — 10
—b5a = —-10

Soa=2

b=4a-15=4%x2-15=-7

La+b=2-7=-




3 2
<1x+2) +3a = bx*+cx+8 Q4 W, A5 a, b, ¢ AN abe 9

%2

11 9
® 7 @Z ® 2 @ 4 ® 6

B )

<§x>2+2x§xx2—|—22+3a
4 4

9
=_—x>4+3x+4+3a

16
44+3a=28
4 9
——b:—’ :3
=37 16 €
4 9 9
abC—§XEX3—Z




6.

= SollA AAsHAE mel A4 O] (—x +y)% I B2 A2

@) (x-y)? @ (x+y)? ® —(x—y)?

@ —(x+y)? ® (-x-y)?

~&B

(—x+y)? = x> - 2xy +y*

@ (x-y)* =x*-2xy +y?
@ (x+y)?=x"+2xy+)°
@ —(x-y)?=-x*+2xy-»°
@ —(x+y)? = -2 -2xy-y*

® (-x-y)2=x24+2xy+y* (-x+y)? ={-(x-y)P =

(x-y)?




7. T(x+a)*+ (4x+0b)(x-5) & ItHs] ofH x O] Alg7F10]t} a, b
7hAAd o, Ad2?

@22 o©-0 04 @20 O3

~&B )

7(x% + 2ax + a®) + (4x® — 20x + bx — 5b)

= 11x? + (14a — 20 + b)x + 7a* - 5b

x AFE14a-20+b =1

1l4da+b =21

na=1,b="1( a, be AAF)

TR 5L Ta? - 5b = 7 - 35 = —28 ]t}




® 912 > (a+b)? = a® + 2ab + b?

@ 597% - (a-b)? = a® - 2ab + b*

® 103% - (a +b)? = a® + 2ab + b*
@)s84x75 > (a+b)(a-b) = a® - b?
® 50.9%x49.1 - (a+ b)(a—b) =a® - b*

ol-&

@ 84 x 75 = (80 +4)(80 - 5)
(x+a)(x+b) =x*+ (a+b)x+ab







10. (2-1)(24+1)(22 +1)(2* +1)= +ds] 5FH?

® 63 @ 65 ® 127 @ 129 ®)255

(22-1)(22+1)(2*+1) = (2* - 1)(2* + 1)
=28-1
=256 -1 =255




11.

@ (154 — 15a)m? @ (1542 — 9a)m?

® (15a* - 8a)m?

@) (156 - 8a + 1)m?

@ (15a%> = 9a+ 1)m?

Stk Qo] 22 e EF o7 o 2 AAAg e R
7t=9] Zol7t (5a-1) , A= 2] Ao|7} (3a-1) o] HH}. &
Hol= (5a—1)(3a—1) = 15a% — 8a + 1 o]t}

d
=

=]
el

iﬁLr




D)(x + 2)(x + 4)(x 4 7) o] AARA oA 2 o] A4} A9
?

=
o 1

@ -2 @ 8 @ 14 ® 28

@—19
~&B

x=D(x+2)(x+4)(x+7)

={(x-1)(x+DH(x+2)(x+4))

= (x% + 6x—T7)(x% + 6x + 8)

x? 0] Y@= F2 8x2 4 36x% — 7x% = 37x% 0|t} wEbA] &2 9
A= 370]4L, A2 -56°] HE =R x? o] A49 Ao
g2 37-56 = —19°]ct.




13. (3a—2b+1)(3a+2b-1) & A75HA?

@ 3a2-2b%2-1 @ 9a% —4b% -1
® 942 +2p-2b2-1 @ 9a%2 +2b-4b? -1
@9a2—4b2+4b—1

~&B

(3a—2b+1)(3a+2b-1)
={3a-(2b-1)} {3a+ (2b-1)}
= (3a)2 - (26— 1)2

=9a% - (4b*> —4b + 1)
=9a% - 4b* +4b -1




14.

(x+A)(x+ B) B AASFAHY 22 + Cx+ 8 ©] HA. tH2 F € 9
ol = 4 gl Z27? (H, A, B, C = Aot}

® -9 @ -6 @3 @ 6 3 9

(x+A)(x+B) =x>+(A+B)x+AB=x*>+Cx+ 8 °|B2
A+B=C, AB =8 o]t}

w2t €= (148, 2+4,-1-8, —2-4)=(9, 6, -9, —6)
oltt.




15.

x_|_y:3, xy:20é[q1,x4+y49’]%):%?

@ 15 @16 @7 @ 18

P =(x+y)?-2xy=32-2x2=5
Loyt = (P +)°)? - 2(w)? =25 - 2x4 =17




